= lsin(x - E)
=3 3

Example:

(Remember APTEV)

Formulas for General Form y =asin(bx-c)+d and y =acos(bx-c)+d

1

m@ﬂ®:M=H 2

period (of sine and cosine) = 2% = 2Tn =2n
tick marks = period = 2n _r
4 4 2
endpoints Solve:
bx-c=0 bx —c=2mn
3
T T 6m Tm
X=— =—+—=—
3 3 3 3
(starts) (ends)

vertical shift =d = none

tick mark calculations:

b1 rc T Sm
1) = 2y 2y 22
(1) 3 () 3t
(3) 5_“ n_8n_dxn (4)4_75 n _lln

2 6 3 2 6
(5)& n_In

2 3
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Example: y = 3cos(2x) +2

(Remember APTEV)

Formulas for General Form y = asin(bx-c)+d and y =acos(bx-c)+d

amplitude = [a| = |3 =3

period (of sine and cosine) = 2% = 2?“ =7
tick marks = period _r
4 4
endpoints Solve:
bx-c=0 bx-c=2n
2x-0=0 2x-0=2mn
x=0 X=7
(starts) (ends)

vertical shift=d =2

tick mark calculations:

T
(1) 0 2 0+2=-"
4 4
T T X T T 3w
H T4t @St
()4 4 2 2 4 4
(5)3—R+E—4—n—n
4 4 4




Example: y =-3cos(2nx + 4)

(Remember APTEV)

Formulas for General Form y = asin(bx-c)+d and y =acos(bx-c)+d

amplitude = |a| = |-3|=3

period (of sine and cosine) = 2n = 2n =1
b 2n
tick marks = period = l
4 4
endpoints Solve:
bx-c=0 bx-c=2n
2nx+4mw =0 2nxX + 4w =21
2nx = -47n 27X = -2
X=-2 Xx=-1
(starts) (ends)

vertical shift =d = none

tick mark calculations:

(1) -2

(3)‘_7+l=‘_6=_3
4 4 4 2
=5 1

S —+—=-1
4

-7

@ 24171
4 4

-3 1 -5

( 2 4 4




